

$a_1 + 3d = 41$ $40 + 3d = 41 \rightarrow 3d = 1 \rightarrow d = \frac{1}{3}$ $a_n = vn + 33 = 40$ $vn = 1 \rightarrow n = \frac{1}{\frac{1}{3}} = 3$	۱
$100 \leq vn + 3 \leq 999$ $9v \leq vn \leq 994$ $13 \leq n \leq 142$ $142 - 13 = 129$	۲
$a_{n+1} + a_{n+2} + a_{n+3} = 4n + 12$ $a_n = -2n + 11$ $3n = 4 \rightarrow n = \frac{4}{3}$ $4(-2) + 3 = 12 \rightarrow 12$	۳
$y^{x+1} - y^x + 1 = y^x - 3 - y^x + 1$ $y^x - y + 1 = y^x - 3 - y^x + 1$ $(y-4)(y+1) \rightarrow y = -1$	۴
$a_1 + 7d + a_1 + 11d \rightarrow 2a_1 + 18d = 2a$ $a_1 = -18d$	۵

$$\frac{d}{a_1} = \frac{1}{\omega d} = \frac{1}{\omega} \left[\frac{d}{\omega} \right]$$

$$\frac{\omega}{r} (a_1 + a_{\omega}) = \frac{1}{r} \times \frac{\omega}{r} \rightarrow \frac{\omega}{r} (a_1 + a_{10}) \rightarrow \omega a_1 + 1 \cdot d = \frac{\omega}{r} a_1 + \frac{r \omega}{r} d$$

$$\frac{\omega}{r} (a_1 + a_{\omega}) = \frac{\omega}{r} (a_1 + a_{10}) \rightarrow \omega a_1 + \omega d = \frac{10}{r} a_1 + 1 \cdot d$$

$$t_n - t_{n-r} = r d = 1 \omega \rightarrow d = \omega$$

$$\frac{(t_n - t_{\omega})(t_q + t_{\omega})}{t_v} = \frac{r_0 (t_q + r d + t_q - d)}{t_q + \frac{d}{\omega}} = \frac{r_0 (r t_q + 10)}{t_q + \omega} \rightarrow \frac{r_0 (t_q + \omega)}{t_q + \omega} = r_0$$

$$d = \frac{r + \sqrt{r} - r + 13\sqrt{r}}{13} = \frac{13\sqrt{r}}{13} = \sqrt{r}$$

$$r \rightarrow \frac{r}{f_{n-1}} \rightarrow r d = r_0$$

$$a_{n+1} = 11 \rightarrow a_{n-1} - a_{n+1} = r$$

$$a_n + a_{n+r} = a_p + a_{14} \rightarrow r + 14 = n + n + r - r_0 = 2n + r - n = 1$$

$$a_n = \frac{r a_n}{r} \rightarrow a_1 + (n-1)d = r [a_1 + (\frac{n}{r} - 1)d] \rightarrow a + (n-1)d - r a_1 - \frac{r n}{r} d + d = 0$$

$$a_k = 0 \rightarrow a_k = a + (k-1)d \rightarrow -d + (k-1)d \rightarrow d(k-1) = 0 \rightarrow (-n+r)d = r a_1$$

$$a_1 = -d \rightarrow -r d = r a_1 \rightarrow (-n+r)d = r a_1 \rightarrow n \text{ is odd}$$